NAMIBIA UNIVERSITY
OF SCIENCE AND TECHNOLOGY

FACULTY OF MANAGEMENT SCIENCES

DEPARTMENT OF MARKETING AND LOGISTICS

QUALIFICATION: BACHELOR OF LOGISTICS AND SUPPLY CHAIN MANAGEMENT

HONOURS

QUALIFICATION CODE: 08HLSCH

LEVEL: 8

COURSE: FINANCIAL TECHNIQUES FOR
LOGISTICS MANAGEMENT OPERATIONS

COURSE CODE: FTL 821S

SESSION: JANUARY 2019

PAPER: THEORY AND PRACTICAL

DURATION: 3 HOURS

MARKS: 100

SECOND OPPORTUNITY EXAMINATION QUESTION PAPER

EXAMINER MR. T.L. NAKWEENDA

MODERATOR: | MR. J. SILVA

INSTRUCTIONS

Answer all questions.

e T8 I =X

Number your answers accordingly.
The use of PV and FV tables attached in appendix is permissible.

Round your answers to four decimal places wherever applicable.

THIS QUESTION PAPER CONSISTS OF 5 PAGES (Including this front page)




Question 1 (10 Marks, 18 Minutes)

Required: All questions should be answered in the context in which they
have been asked. The marks allocated should serve as the basis of the | MARKS
length of your answer(s).

1.1. | What is the primary role of a financial manager? 4
1.2. | In your own words, what is finance (3 marks each:
a) At a personal level? 6
b) In a business context?
TOTAL MARKS FOR QUESTION 1 10

Question 2 (15 Marks, 25 Minutes)

Companies A and B are competitors in a manufacturing industry. The companies’ abridged

Statement of Financial Position is as follows:

Statement of Financial Position (extract)

Companies

A B
ASSETS (N$) (N$)
Non-current assets 60 000 | 58 000
Inventory 3000 2000
Accounts receivable 4 000 3 200
Cash 5 000 3000
Total assets 72 000 | 66 200
Equity and Liabilities
Share capital (N$ 2/share (Comp A) and N$ 2.5/share (Comp B) 40 000 | 35000
Retained earnings 5 000 4 000
Long term liabilities 20000 | 18000
Accounts payable 7 000 9200
Total equity and liabilities 72000 | 66 200
REQUIRED: Assuming that you are a prospective investor, on the basis of
the following ratios, discuss in which company you would invest and MARKS
why?
2.1. | Current ratio 3
2.2. | Quick ratio 3
2.3. | Debt ratio 4
2.4. | Earnings per share 5
TOTAL MARKS FOR QUESTION 2 15




Question 3 (20 Marks, 36 Minutes)

Required: Read the followings scenarios and answer each scenario MARKS
independently:
3.1. | An ordinary share has just paid a N$ 5 per share dividend and the share
has a required return of 12%. Dividends are expected to grow at 15% in
the first 2 years and then from year 3 the growth will be 5% per year 8
forever. What is the price you would be willing to pay for this share?
3.2. | A company borrows N$ 1 000 by issuing a bond with coupon rate of 8%
per annum paid quarterly and promises to pay back the principal in 4 %
years. If the current market rate on similar bonds is 8%, what is the
value of this bond?
3.3. | Using the very same information in 3.2, what would the value of this
bond be if coupons are paid semi-annually instead of quarterly? 8
TOTAL MARKS FOR QUESTION 3 20

Question 4 (20 Marks, 36 Minutes)

Simonis Storm (Pty) Ltd share has a beta factor of 0.9, expected market rate of return of
12% and a risk free rate of 8%. A competitor to Simonis share has a beta factor of 1.1, an

expected market rate of return of 14% and a risk free rate of 6%.

Required: MARKS
4.1. | Compute the expected rate of return for each share of the two companies. 8
4.2. | With the help of your answers in 4.1., state whether each company’s share
has been correctly priced, underpriced or over-priced. &
4.3. | With the help of your answers in 4.2, what would your recommendations 8
be to the seller and buyer under each company?
TOTAL MARKS FOR QUESTION 4 20




Question 5 (25 Marks, 45 Minutes)

Nampost Ltd is considering making an investment of N$ 700 000 in a new Truck delivery

vehicle of which the details of the investment is as follows:

e Expected useful life 5 years (straight line depreciation)
e Salvage value N$ 100 000
e Cost of capital 10%
e Corporate tax 30%
Year After tax Cash Flows
1 240 000
2 140 000
3 140 000
4 200 000
5 (24 000)

NB: The above cash flows have not been adjusted for Deprecation.

Required: MARKS
5.1. | Compute the Pay Back Period and the Accounting Rate of Return. 14.5
5.2. | Plastic Packaging requires a PBP of no more than 3 years and a return of
at least 40%. Purely on the basis of these criteria, should the Truck be 2
purchased?
5.3. | Use the Net Present Value (NPV) method to determine whether the Truck
should be purchased or not. &8
5.4. | With your findings in 5.2 and 5.3, are there any conflicting
recommendations? If so, of the three techniques, which one would you 2
recommend to Nampost and why?
TOTAL MARKS FOR QUESTION 5 25




Question 6 (10 Marks, 18 Minutes)

The managing director of Epupa Investments Ltd has always been concerned about the way
the company has been managing its inventory over the past years. It came to light that more
cost was incurred in inventory management due to poor planning of inventory levels. In order
to overcome such a challenge, the MD hires you as a consultant to advise them on the
importance of applying the Economic Order Quantity (EOQ) model. He also requests you to
determine the company’s ordering and holding cost based on the information provided

below. (NB: EOQ has to be per annum — assume a 52 weeks calendar year)

e Demand per week 500 units

e Ordering cost per order N$ 20

e Holding cost per unit per annum is 10% of ordering cost per order
REQUIRED: Using the information above, compute: MARKS
6.1. | EOQ 4
6.2. | No. of orders per annum 1
6.3. | Holding cost and ordering cost 4
6.4. | Why do companies use EOQ as a way of managing its inventory? 1
TOTAL MARKS FOR QUESTION 6 10

... End of Question Paper ...
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